P/N [T1608KT2—-2126

TITLE [DOUBLE ANTENNA MOUNT

QTY [ITEM | PART NUMBER DESCRIPTION WEIGHT
2 1 K1704KT-02 SLIDER PLATE, TAPER ADJUSTMENT 8.1 Ibs
2 2 K1704KT-01 Z—FITTING, TAPER ADJUSTMENT 4.2 Ibs
2 3 K1690KT-03 SECTOR FRAME CHANNEL 15.5 Ibs
8 4 H1029KT2GA3 BOLT, 5/8" X 2" HDG 0.37 Ibs
8 5 H2002KT58GA3 5/8” HEX NUT, HDG 0.11 Ibs
8 | 6 | H3002KT58G 5/8" LOCK WASHER, HDG 0.04 Ibs
8 7 H3012KT58GSA3 5/8” FLAT WASHER, HDG 0.07 Ibs
4 8 K2220KT15iA THREADED ROD, 5/8” X 15" 1.99 |Ibs
2 9 | P1200KT4 3-1/2" OD X 48" PIPE 32.86 Ibs
2 10 | P1000OKT10.5 2-3/8" OD X 126" PIPE 38.49 Ibs
4 1 K1710KT CROSS OVER PLATE, 2-3/8" — 4-1/2" 6.3 Ibs
12 12 | K7942KT6—1 3-1/2" OD UBOLT KIT 1.3 Ibs
2 13 | K1704KT-05 UNIVERSAL SADDLE MOUNT 8.2 Ibs
8 14 | K7941KT4-1 2-3/8" OD UBOLT KIT 1.3 Ibs
1 15 | P1500KT8 4-1/2" OD X 96" PIPE 86.64 Ibs
8 16 | K7940KT5—-1 4-1/2" OD UBOLT KIT 1.3 lbs

oo © © oo

00 00

N __mr@hp N
= U U =
36.0
DRAWN DATE CHECKED DATE
KAA _ 6/28/12 _
TILE

TELECOM
3431 Novis Point Acworth, GA 30101

/ﬁéooo

(838) 439-0500 (770) 974-5100 fox

DOUBLE ANTENNA MOUNT

TN T1608KT2-2126 [ [




